W‘ s CREITIISGATA—Y @& ®
plotalfKnowd [WXA) EEZ =1/383.2 g§f=-%}15;§%-ﬂﬁ =100.0%(ST=131)
B Fk =38383&15&15

TR = STH /131 @ - FEEE /100 @

MR R A k- - L [WLA] FE5E=1/256.0 FEZE =" ?J 4.0% « HkfE =IOO.D'Z?(ST=I?IJ
W AT)—-8{H — YR = ;_shiiflvl B - E%#& /100[E Tk =38323&15815

BRI - BTF = — il
W77 RS BbY
W/EY---dh

MR- 41T

[MAX HHE]

(T -%&3m8 1518 /100C)
H2+TF 4R--- 840 1@
. T 8R:--1,120 {#
B 2+ T 14R---2,240 B

[wLA]

(T - i@ 1518 /10C)
H2+TF 1R+ 4201&
. T 8R:--1,120 {#
B 2+ T 14R---2,240 B

WiEHEOH4ER
<ARA=THE>

[(SEZEET—]

<BEBREES= 5 E> FEFEEEH ]

TR, [EAMHER] BvEY, [FHBEM] ToMHIZ¥ECET, Presented by TKC  (HREH b—& - /7« 3FFiarX)




